T800-22-0000 Assembly Details

T800-22-0001 Installation Guide 429-82201-00

1 [ 2 [ 3 4 5 8 9 10 [ 11 [ 2 [ 1 [ U
T7800-22-0000 Mechanical B.0.M.
A Hem[ IPN Description Qty [a
1 [x800-22-0004 Rack. Loom Option 1
318-01027-00 Rack Top Rail 1
318-01028-01 Rear Rail. wired rack 1
! 318-01030-00 Rack Front Rail 2
318-01031-01 Rack End Panel 2
345-00050-07 M4x10 pan pozi 12
349-00020-36 M3x8 pan torx taptite b
B 353-00010-20 M& shakeproof int 12 |B
356-00010-61 Earthing Terminal 1
2 |X800-40-0001 T800 Blank Guide Kit 2
307-02046-00 Guide. Blanking 2
| 316-06615-00 Blank Panel 1T M
349-00020-33 M3x6 tcsk pozi taptite 2
349-00020-36 M3x8 pan torx taptite 2
3 IXBOO*M*OOOZ T800 Double Guide Kit 1
C 307-02045-00 Guide. T800 Module L |
316-21189-00 Rear Panel. Double 1
349-00020-03  |4-40x1/k pan pozi laplite 8
349-00020-33 M3x6 tcsk pozi taptite b
1 349-00020-36 M3x8 pan torx taptite 8
4 |X800-45-0000 T800 50W PA Guide Kit 1
307-02042-00 Guide. PA Stop 1
307-02043-00 Guide. PA Rail 1
D 349-00020-33 M3x6 tcsk pozi taptite 4L |D
5 IXBOO%O*OOOO T800 Blank Guide Kit 1
307-02046-00 Guide. Blanking 2
349-00020-33 M3x6 tcsk pozi taptite 2
1 6 IXBOO%A*OOOO T800 PS Guide Kit 1 1
307-02044-00 Guide. Power Supply 2
349-00020-33 M3x6 tcsk pozi taphite 6
7 [360-00010-05 Grommet 5/8 inch 2
3 8 |340-00010-22 Fuseholder 30A panel mtg 1 |E
9 [340-00011-50 Coyer. fuseholder insulating 1
10 [X800-15-0000 Speaker / Program Port 1
220-01410-00 PCB. RJ11 Bulkhead 1
1 240-04023-00 Socket RJ11 Bulkhead 1 1
250-00010-19 Speaker, 4 Ohm 5 Watt 1
307-01015-01 Speaker Grille, Metal 1
316-06616-00 Speaker Panel 1
F 349-00020-36 M3x8 pan torx taptite 6 |F
352-00010-08 M3 Nut. cold form 3
353-00010-13 M3 shakeproof int L
353-00010-16 M3 fibre washer 1.5T L
1 11 ]XBOO—SO—OOOO Standard Rack Backplane 1
220-01409-00 Standard Backplane P(B 1
349-00020-03 4-40x1/L pan pozi taptite 2
G G
H H
H (10 o H
\ 0.
q
e q
0
800 Series 2
] USED ON_ ||
GENERAL LIMITS (UNLESS STATED) [CONFIDENTIAL: RADID SYSTEMS DIVISION
LINEAR. 0.2 This document is not to be copied PO Box 1645 Christchurch
HOLES : 0.1 nor the confents passed on fo any New zealand|  Standard Rack Shelf
) ANGLES: +1° third party withoul the written Tel, (64) (3) 358-3399 J
ALL_DIMENSIONS IN mm, consent_of Tait Electronics Ltd. Fax; (64) (3) 358-2825
A Original Pairick 22 Mar 99 MATERIAL: ORIGINAL SCALE- 35 DO NOT SCALE T SHT 1
1SS AMENDMENTS DRWN CHKD APYD DATE [FINISH: DRAW ING SIZE: A2 IF IN DOUBT ASKL @ 6 ‘ PN TBOO*ZZ*OOOO OF 1
1 [ 2 [ 3 4 5 8 [ 9 10 [ 11 [ 2 [ 1 [ U
1 [ 2 [ 3 4 5 8 9 10 11 [ 2 [ 13 [ %
Item IPN Description Qty
1 318-01027-00 RACK TOP RAIL
A 2 318-01028-01 Rear Rail. wired rack 1A
3 318-01030-00 RACK FRONT RAIL 2
L 318-01031-01 Rack End Panel 2
5 345-00050-07 M4X10 PAN POZI 12
— 6 349-00020-36 M3x8 PAN TORX TAPTITE L+
7 353-00010-20 ML SHAKEPROOF INT 12
8 356-00010-61 Earthing Terminal 1
B B
C C
D D
E E
F F
G G
@
H H
i ,, @ i
P 0
o]
p O
800 Series- 2
[ USED ON_ [ |
GENERAL LIMITS (UNLESS STATED) CONFIDENTIAL: RADI0 SYSTEMS DIVISION
LINEAR: 0.2 This document is not to be copied PO Box 1645 Christchurch
HOLES . +0.1 nor the contents passed on to any New Zealand QA[ K B LUUM UPT ‘ UN
) ANGLES: +1° third party without the written Tel: (64) (3) 3568-3399 J
ALL_DIMENSIONS IN mm. consent of Tait Electronics Ltd. Fax: (64) (3) 358-2825
A finalised Patrick 8 May 98 |MATERIAL ORIGINAL SCALE- 35 DO NOT SCALE T SHT 1
1SS AMENDMENTS DRWN CHKD APVD DATE |FINISH: DRAW ING SIZE: A2 IF IN DOUBT ASKL @ G ‘ pN X800-22-0004 | OF 1
1 2 3 4 5 8 | 9 0 11 | 2 | 1 | 1




X800-40-0001 Assembly Details

X800-41-0002 Assembly Details

1 [ 2 [ 3 [ 4 5 6 7 [ 8 9 [
Item IPN Description Qty
1 307-02046-00 Guide, Blanking 2
A 2 316-06615-00 Blank Panel 1
3 349-00020-33 M3x6 tcsk pozl taptite 2
b 349-00020-36 M3x8 pan forx taptite 2
. y
Tl
‘ o
D
E /
4
gJ 0
E
GENERAL LIMITS (UNLESS STATED) CONFIDENTIAL: RADIO SYSTENS DIVISION
LINEAR: 0.2 This document s not to be copied PO Box 1645 Christchurch 7800 Blank Guide Kit
HOLES - 0.1 nor ihe confents passed on to any New Zealand
s NGLES: +1° third party without the written Tel: (64) (3) 358-3399 an uide !
ALL DIMENSIONS IN mm. consent of Tait Electronics Lid. Fax: (64) (3) 358-2825
A Original Pafrick 22 Mar 99 |MATER|AL ORIGINAL SCALE- 45 DO NOT SCALE
1SS AMENDMENTS DRWN CHKD APVD DATE [FINISH. DRAW ING SIZE: A3 IF IN DOUBT ASK! 6 IPN: X800-40-000"
1 2 3 [ 4 [ [ 6 [ 7 [ 8 9 [
1 [ 2 [ 3 [ L 6 7 [ 8 9 [
Item IPN Description
1 307-02042-00 Guide, PA Sfop
A 2 307-02043-00 Guide, PA Rail
3 349-00020-33 M3x6 tcsk pozi taptite
B
C
D
3
F
GENERAL LIMITS (UNLESS STATED) CONFIDENTIAL: RADIO SYSTENS DIVISION
LINEAR: £0.2 This document s not to be copied PO Box 1645 Christchurch ) .
HOLES © 0.1 nor fhe tonfents passed on fo any New zealand | [ 800 S50W  PA Guide Kit
G NBLES: +1 third party without the written Tel: (64) (3) 358-3399 G
ALL DIMENSIONS IN mm. consent of Tait Electronics Lid. Fax: (64) (3) 358-2825
A Original Pafrick 22 Mar 99|MATERIAL: ORIGINAL SCALE: 7:10 D0 NOT SCALE
1SS AMENDMENTS DRWN CHKD APVD DATE [FINISH: DRAW ING SIZE: A3 IF IN DOUBT ASK! 6 IPN: X800-45-0000
1 2 3 [ 4 [ [ 6 7 [ 8 ] [

1 [ 2 3 [ A 6 7 [ 8 9 [ 10
Item IPN Description Qty
307-02045-00 Guide, TB0O Module 4
316-21189-00 Rear Panel, Double 1 |
349-00020-03 4-40x1/4 pan pozi taptife 8
349-00020-33 M3x6 tcsk pozi taptite L
349-00020-36 M3xB8 pan forx taptite 8
B
C
D
3
F
T800-22
| useo oN
GENERAL LIMITS (UNLESS STATED) CONFIDENT 1AL RADIO SYSTEMS DIVISION
LINEAR: 0.2 This document is not to be copied PO Box 1645 Christchurch ’ ’
HOLES . +0.1 nor the confents passed on 1o any vew zealad| [ 300 Double Guide Kit
NGLES 1 third party without the wriften Tel: (64) (03) 358-3399
ALL DIMENSIONS IN mm. consent of Tait Electronics Ltd. Fax: (64) (03) 358-2825
Original Pairick 22 Mar 99 |MATERIAL ORIGINAL SCALE: 7:10 D0 NOT SCALE SHT 1
AMENDMENTS DRWN APVD DATE |FINISH: DRAW ING SIZE: A3 IF IN DOUBT ASK! 6 [PN: X800-41-0002 0F 1
1 [ 2 3 L [ [ 6 [ 7 [ 8 [ 5 [ 10
1 [ 2 3 [ L 6 7 [ 8 ° [ 10
Item IPN Description Qty
1 307-02044-00 Guide, Power Suppl 2
2 349-00020-33 M3x6 tcsk pozi taptite 6 |
B
C
]
3
F
[TBOD Series 2|
| useo oN
GENERAL LIMITS (UNLESS STATED) CONFIDENT 1AL RADIO SYSTEMS DIVISION
LINEAR: 0.2 This document is not to be copied PO Box 1645 Christchurch ) .
HOLES - 0.1 nor the contents passed on o any New Zealand T800 PS Guide Kit
NGLES: +1 third party without the writfen Tel: (64) (3) 358-3399 G
AL DIMENSIONS IN mm. consent of Tait Electronics Lid. Fax: (64) (3) 358-2625
Original Pairick 22 Mar 99 |MATERIAL ORIGINAL SCALE: 7:10 D0 NOT SCALE SHT 1
AMENDMENTS DRWN APVD DATE [FINISH: DRAW ING SIZE: A3 IF IN DOUBT ASKL 6 [PN: X800-44-0000 0F 1
1 [ 2 3 [ 4 [ [ 6 [ 7 [ 8 [ 5 [ 10




